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Exam 1 Practice :: Math 111 :: September 11, 2015

1. Simplify each expression
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3. Simplify each expression, elimating any negative exponents

(a) VyPa® =V

(b)(3a°6%)2(2ab?)
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4. Perform the indicated operations and simplify

(@) (z =y +2° =y

() (Va+ V) (Va—Vb)

(d) (ab)? — a2 + (7)2 -4




5. Factor each expression completely

(a) 25 — 9y

(b) 32% 47z —20

(c) o8 +a* 422 +1

(d) (562 _ 1)5/44:173/2 _ $71/2($2 _ 1)1/4

(f) 2*y* = 9y




6. Simplify the rational expression

2 1
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Exam 1 Practice :: Math 111 :: September 11, 2015

1. Simplify each expression
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3. Simplify each expression,
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5. Factor each expression completely

(a) 25— 9y?

(b) 322 + 7z — 20

bedc
(3% =5)x + 1) = e

B e 2
oS R N \
*
W — > & ot
20 ( e x —=SF T %

ot ot B e P o (T3 e

(xb,(- )(‘{) + ()(2 + \>
;ut(j‘m@%%l”) = eyt )

o 1 “0,',{7 ..M\;l IS ‘\,’\:o\rk
vgﬁdn,wx 7 (msu\Aﬂ.

NoTICE  THESE MEE SAME

(d) (2® = 1)°142%2 « ¢~ 2(a® — 1)/
_— ——

oz G
X_l/z (x&- '3/4 (L(x - — |

oo 0 C/OW\MV\T-QVW‘g _
with  swall oSl {X\Oowavj.

Makl  gure Hhis

3,2 _ 9
) @y~ 9oy Gimplifred




6. Simplify the rational expression 3
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Exam 1 Practice :: Math 111 :: September 11, 2015

1. Simplify each expression
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3. Simplify each expression, elimating any negative exponents
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5. Factor each expression completely

(a) 25— 9y?
(b) 322 + Tz — 20
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6. Simplify the rational expression
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